A £ 0l &8 A G Ml A

A=t
ARITHR S (SHMHYAL/YUY - AE)

S (Sr9): @)

SA - FH .2 (32) - MISAIY - BAS 0fl by Ikl AImE=ST
=Xl 14,795,988 14,744,436 51,552
= 2,966,519 2,972,769 N6,250
= 1,850,340 1,851,240 A900
Al 9,979,129 9,920,427 58,702
A S8 (SHHLSL/ LYY - (&) 3,312,877 3,311,902 975
= 1,486,192 1,486,192 0
= 476,936 475,961 975
Al 1,349,749 1,349,749 0
g=d 3,312,877 3,311,902 975
= 1,486,192 1,486,192 0
= 476,936 475,961 975
Al 1,349,749 1,349,749 0
atE Tl s+ K12 437 1,412 2975
302 Ol Mol E4f= 437 1,412 2975
02 QIZIRITHH S RE S22 4= 437 1,412 2975

O'21d Ya2 X2Ds =7 (WKL
300 Ol&)) (MIRAIY HA:"(E)21E s
M2l s7XA"2=z) 23 03 0 975 A975
(&)21d datg M20lo S2K 1,950 0 1,950
== 975 0 975
Al 975 0 975
302 01 =L THHLALS 1,950 0 1,950
= 975 0 975
Al 975 0 975
02 QIZIRITHo =S RS2 4 1,950 0 1,950
A QA2 MU =27 KR (T4
AN B A TIF 2R
1,950,000& » 14 1,950 0 1,950
& 975 0 975
Al 975 0 975
7,497,922 7,601,372 £23,450
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S 1,117,562 1,119,437 A1,875
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5,142,624 5,162,011 A19,387
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= 685,017 686,892 A1,875
Al 3,756, 157 3,767,419 A11,262
130,630 182,917 72,287
7,295 11,162 23,867
04 JIZtMZ2=2 Xt 7,295 11,162 23,867
szt

95,000 7,295 11,162 A3,867
100,255 96,405 3,850
80,000 76,150 3,850
9,300 26,700 AT,400
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SN M=KD
HE: AN PE(SUNSSA/UY - AE)
tBES (Er2: =)
S - B ER(SI) - ARAIY - B Avod plEL HIRE2
201 YLBr2H| 0 12,500 12,500
= 0 6,250 6,250
< 0 1,875 A1,875
Al 0 4,375 A4,375
01 AF= 22l 0 12,500 12,500
OMBIER SBREAK TISHI (MA@
AEE'R) 0 12,500 A12,500
—orE 5} 0 6,250 6,250
= 0 3,125 A3,125
= 0 937 A937
Al 0 2,188 A2,188
—aes= 0 6,250 16,250
= 0 3,125 A3,125
= 0 938 938
Al 0 2,187 A2, 187
AT I ARY 2,355,298 2,359,361 14,063
= 725,428 725,428 0
< 432,545 432,545 0
Al 1,197,325 1,201,388 A4,063
SN 98,274 100,707 A2,433
201 Let2g| 203 207 A4
02 2222 203 207 A4
ogizH| 203 207 A4
—JIAS, I RFHI(Z
143 147 A4
402 QIR XH20| 47,571 50,000 A2,429
03 CIZFRIEFARIE] 47,571 50,000 A2.429
OYTIHE AFS 2| CHEAL
47,571 50,000 A2,429
AFEEAF] 345,374 347,004 A1,630
201 YLBr2H| 7,504 8,994 A1,400
01 A= aiely] 7,300 8,700 A1,400
OLALE FAXIS NHAARS &S 2 EEN
A2t 23 08l 0 1,400 A1,400
405 THAHEISH] 4,270 4,500 £230
01 RAUEZFSH| 4,270 4,500 230
OIIHE PY(MEA THSLAS HHR) (04t
=2 23 770,0002 770 1,000 ~230
=X UEHT PE(SLaHYL/A - A 3,696,753 3,710,599 ~13,846
= 53,449 53,449 0
< 255,842 255,842 0
Al 3,367,462 3,401,308 ~13,846
EONESS 1,793,422 1,799,702 16,280
< 1,450 1,450 0
Al 1,791,972 1,798,252 6,280
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BA: A=
Fo: =1 HESD PR(SHYSH/AY - ME)
= FN L [ENEES (&2 AR
2A -3 A2(ZH) - MRAR - BES 0| AkoH J|&oH Hns2
401 Al&HIL 2] 4,853 5,000 A147
01 Al&H] 4,853 5,000 A147
OROIEHE R SSAL (ZSHEH AL
ZX 4,853,000 4,853 5,000 A147
AFRIH|RLIA 23,131 30,000 AB,869
201 LBt YH| 23,131 30,000 NB,869
03 S#AI2EH] 23,131 30,000 16,869
02021 828 RIS TAIRIBIZS SE88A
2A(oarE2) 22X 23,131,000 23,131 30,000 6,869
HRES(AME=X) (SoHLA/ AN - AE) 171,654 83,781 87,873
SrShNES 171,654 83,781 87,873
BHEX= 171,654 83,781 87,873
802 Etat=D|E} 171,654 83,781 87,873
01 2DBXRILra= 127,366 59,999 67,367
020204 & 90, 111 31,851 58,260
—AHIAEAH R AH(0IX}) 247084 * 14l 3 0 3
— Ol R M2 R AL 1,502,250 * 1Al 1,523 0 1,523
—OIMIH XM 2R 2 AR (01 K
56,4302 * 1Al 57 57
—F M= R)| 5,785,000 * 1Al 5,785 5,785
—FZ=IRI((0IXH 111,170 * 14! 112 112
—=IRD|(ABI ™ RI2))
26,862, 1802 * 14l 26,863 0 26,863
—= PRI (ARSI AL X)) (01K
52,3002 * 14! 53 53
—OIMH XM 2= 01R0| 2,749,320 » 1Al 2,750 2,750
—DIMIH XM 2= D1 (01X
126,630 * 1Al 127 127
—UDAIZSHUHSALS 2,016,500 » {14l 2,017 2,017
—ADAILBNSIAI (OIX})
416,180 * 1Al 417 0 417
—SHLASYAX AL (FHE)
60,0102 * 14! 61 0 61
—STHRSI S U XA (FEHK) (0IXH)
85,900 1Al 86 0 86
— S EUH KR AIS (AR EXI2)
3,500 * 1Al 4 0 4
— S 2L XA (AR ZXIE) (01X
2,860 * 1Al 3 0 3
— A2 THGH 2 K2l (Ol =2 RISH
1,260,050 * 1Al 1,261 0 1,261
—AEIYEEYHH(sS2IH)
356,650 * 1Al 357 357
— APQEAFA AL IR SHOI | & 800,000 * 1Al 800 800




S MESTID
I NRES(AMT=T0) (sHolYrA/AY - AE)
& 2FXE (e &)
SA - M AA(SH) - HIRAY - BES O AkoH J| &M Hws2t
— AFQFAAARIIE SO K| = (O A})
3,480 * 14 4 0 4
— QRIS MASHT] R A (A )
2,910,000 * 14 2,910 0 2,910
— AR RS AARCHT| R4 (A 24) (OIKH
12,6202 * 14l 13 0 13
—MAR|BHR| 3,378,000& * 14 3,378 0 3,378
— M A BRI (01 RF) 49,4909 * 124 50 0 50
—HE[H2E FOIXIRAFY 3,500,000 * 14l 3,500 0 3,500
—BHEE[H2F Z=RIXIRAFS (01X
11,9002 = 124 12 0 12
—FTATH| & XIS A 659,0002 * 14l 659 0 659
—FTAHI & XI2IAF (OI RF) 1,4002 * 14l 2 0 2
—MBINHIAS20] AFY 4,652,050 * 14l 4,653 0 4,653
—MRINHIAS 20! AP (OIXEH)
16,2802 * 14| 17 0 17
—BEH2 ESES 780,0002 * 14l 780 0 780
—BHEH2t 2SS (0IXH) 2,7408 * 14l 3 0 3
020198 = 9,107 0 9,107
— UMY AB RS ALY
6,106,370 * 14| 6,107 0 6,107
—AUIAZ R AR RS A (Ol
2,999,950 * 14 3,000 0 3,000
02 Al - SHIBXSEHEZ 44,288 23,782 20,506
020208 = 28,820 10,520 18,300
— A EHAHE ZA(0IXF) 7402 * 14| 1 0 1
— OISR M2 =AY 764,340 * 14l 765 0 765
—DIHISXI M2 =2 AR (OI RF)
23,8002 * 124 24 0 24
—F I 3)| 1,735,100 * 14l 1,736 0 1,736
— ™I (0| R 42,7202 % 14l 43 43
—= IR0 (AL =L TL2)
7,427,950 * 14l 7,428 0 7,428
— =PRI (A= Xt2] ) (01K
14,8802 * 14l 15 0 15
— OISR M 2 =010 824,8002 * 14l 825 0 825
—DIHIHXI M2 =R (01 R}
27,5802 * 124 28 0 28
—AAIHIT| B3 XA
71,3502 * 14 72 0 72
—ADAESUSIAI 534,950 * 14l 535 0 535
— AP AILSHSIAFS (01K
124,580 * 14l 125 0 125
— SRS ZU XA (FEHR)
24,0102 * 124l 25 0 25
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